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UG/1st Sem/G/20(CBCS)

2020

ECONOMICS (General)
Paper : DC-1/GE-1
[Microeconomics]

(CBCS)

Full Marks : 32 Time : Two Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers

in their own words as far as practicable.

Group - A

Answer any four of the following questions : 2×4=8

1. What are the fundamental problems of an economy?

2. Draw a curve showing perfectly inelastic demand.

3. State the Law of Variable Proportion.

4. What do you mean by Marginal rate of substitution?

5. What is Monopoly market?

6. What do you mean by marginal physical product (MPP) of labour?

Group - B

Answer any four of the following questions : 4×4=16

7. Discuss the determinants of demand.

8. Why is demand curve downward sloping to the right?
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9. Why the indifference curve is convex to the origin?

10. Discuss in brief the concept of quasi-rent.

11. Why is labour supply curve backward bending?

12. Discuss the important features of perfectly competitive market.

13. Why short-run average cost (AC) curve is U-shaped?

14. Distinguish between Price elasticity, Cross Price elasticity and Income elasticity
of demand.

Group - C

Answer any one question. 8×1=8

15. Show how equilibrium price is determined with the help of demand and supply
curve.

16. Critically explain the Ricardian Theory of rent.
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